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Please check that this question paper contains 1S5 printed pages.

Code number given on the right hand:side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 14 questions.

Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to_10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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Wus: & :
SECTION A :

ovs: 9 :
SECTION B :

oue: T :
SECTION C :

wue: Y :

SECTION D :

EENIE

Instructions :

ST - TG (3TafSar STTaie)

Unseen Reading Comprehension

TIATCHS Y (THHTeHS Tl )
Writing Skills

AIHSATHTUH (SIS SAThTT)
Applied Grammar

gfed-TaeieTy (afed-rEearea)

Reading Comprehension

(i) 3O FFTIFFER: GUST: Tl |
G YT H AR @IS & |

The question paper-has four sections.

(ii)  JF GUEY IUHT I THI T T FHH GG |
Y GUE 3 I U & T W HT & 1o7g 817 |

The answers to each section must be written at one place.

(iii)  FFTGEIT FITTAFTRY TG TGH1T |

o7-TF & SJIR Jo7-G&IT 3797 & for@1 &ht |

Write the question number according to the question paper.

(iv) GV FoHT IR G&paT AGHI |
Y 3971 & I G 7 171G |

Answer all the questions in Sanskrit.
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Qug: — %
SECTION - A

SRS~ ST, (SRS Faae)
Unseen Reading Comprehension 10 AT:

FTCARGAH, ST, TSl TERIEAT Feepe ST |
FrfaRad 3Tg=ese i Tgeht feu T T o I T6hd | T |
Read the following passage and answer the given questions in Sanskrit.

iR I e srehfoadfa: wht g E SHgE, SRR w1 d geen
HERIG, STFT=8- HheeH ga1 Y8a — Wl FeAE | a9 3T SR srefifdastar sded |
T & I I¢1 Ud 9ET: BellH g, dal o Sifaar 7 wiasafy | 31a: femem 3w
fIvhet samE UMW 7 ° Ig: IFaH — T1 I5aH St STIAHT J&T ATt Qe |
HATTY STRIIAHT, TS J&T0T BATH SRR SihT: TIey: — Sde™ 3T8q TauH
JTRTUT FHUTH | TEGA: ATV haret T 7 e |
TRAT .

[ UshYeHd |
T I&G H TR GIT, |

Answer in one word. ax4=2
(i) Yo JA1 Hd: TSI & 7
(i) ATV hae foh o haedq 7
(iif) “T%: 3L o: qATIISG: 3T WIaRT: 7
(iv) ga: sy femdianefss g fom ?
. YoEmeRHRRd |
ot areRt | I €T |
Answer in a complete sentence. 2x2=4
() T T fomamd garomy s wifa w7
(i) T 5 fope sr=e 7

3 [P.T.O.
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[ Yeaideheus: 3faaq I faea fored |
feu Tu oot ° & 3fea 3w e fofiaw |
Choose and write the appropriate answer from the given options. Vix 4=2
() ‘st e 3fd foramaees shque fem 7
() I
@) s
(m &
(&) T |
(i) wmEm’ e fob formyom 3= w7
(F) TR
@) frewag
(M I
(%)« FTeSfeH |
(iii) “3TYAT $oIE fob yaTadeq 37 g ?
(F) T,
(@) WA
(M W
CINRCIN
(iv) T ToIe foh fereirmren 3m w7
() Sifea:
(@) IhI:
(M Fa
(&) T |
IV. 378 FTSGH Fd I YNeh Heepa forad |
T ST b [T SUYHR Wfieieh eepa H ferfla |

Write the appropriate title for this passage in Sanskrit. 2
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wle: — 9
SECTION - B

TETCAHHI, (THTHS -
Writing Skills 15 g
Tt wfa foTRaay o19.93 nemTvEeTes: T 4 fored |
Tt @t forg e fferRaa o= ot meger # fou 7o sregi <6t Tt & qut Rt g fafau |

Complete the following letter, written to your friend, with the help of the words given in

the box and rewrite the same. Y%x10=5
[RERIEUA
TRt ot |
I (i) |
€9 99 v U | q9 danfiehiaden i)y . 9 sl i) |
IR, @ (iv) o WSS 3 AT YgSH | (v) o I e
(vi) | e femard) wafd, 9o 9e: Sead:, TS SHaduies: Sesiiedr: 9
(viiy  wieed | oI fafSEEEe (vii) . UGS 53 3T IS | 9H g
& o(ix) e vEen gis| | ST @ T SIS | TR e T
TS (x) |
T TfTgeat
fSrerere
AW

e, wicet:, g, TH-:, T, 3, T,
FrTerd, ey, ST |

5 [P.T.O.
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3. 319 Ved e guaT AT YCASeEH] SIgREH U ST §8hdad for@d |
= feu 7T o= <1 o wep # fou e wreqi <At HERIaT § Ui §5hd el | i |

Describe the following picture in five Sanskrit sentences with the help of the words given
in the box below. 2x5=10

LEAl
Y, TUGAH, THH, ST, ST, &, J&71:, Hurar:, ffaan, smem, 71y,
€M, 3=, gmafd, 799 |
FET/OR
HeETIEATseHT HrareA fEfaiad favem rfiehea wafiy: despaared): Ty 31wt fora |
T H fou T wregi Y werrdr & fFfafad fave w uie gwhd awRil § s s fafan |

Write a paragraph in five Sanskrit sentences on the following topic with the help of the
words given in the box. 2x5=10

‘Wa=ar-feaq:’
RN
ST, 21631, <reehlfoTeh WA=IdH=d, JEIFaRIE: , TSy,
TERIGHITER,, TS, TATH=, foerRismET: , JTdreRv,
AT TS, SATETes, TS, ey |
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Qug: — T
SECTION - C

AITIHSATHTT (FITITh SATHLT)
Applied Grammar 25 g

FUfRgaaTeRy Wifgauey A ai-=eg a1 el fored |
Trfefiaa are & t@ifera et # afr steren afufaeae %t fafigu |

Write the underlined words of the following sentences after joining or disjoining
Sandhis. 1x4=4

(i) 3T ARHI 1 + 31: &: 3 ?
(i)  HQlgdl: HU: e |
(if) T T: Teh + B TSIH T |
(iv) T TAfT FoaT |

FIfRgqaTeRy Wt aueHT THE foug a1 Yedtdeheu: fama formaa |
freferfiaa amert ® WEfend vl <1 o 37era fourg fou u ferehedi ® e faiflaw |
Choose and write the correct compounded or-expounded forms of the underlined
words in the following sentences. 1x4=4

() 3TE TP o HEhageT T THHARIE: TS |
(i) ugafafem
(i) TgETEA
(i) Tgafawed |
(@) heTfy 3 7 eriead |
(i) TR
(i) 3+
(iii) Bd + 7 |
() Arar-Tet gorRr ghenTeH TS |
() T =
(i) wra = s
(i) T = el = |
7 [ P.T.O.
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(F) Tag TR0 A T AW 1M |
(i)
() ®I=g feRe
(iii) 3TTEIH |

e forer |

Frrforfaa STl i i T % R S Y S A 9o w0 S I
forhedi § § gt feafa |

Write the underlined words of the following sentences after joining or disjoining

suffixes to the roots or words, selecting the correct answer from the options given
below : 1x4=4

(%) AU TAg 37 THAY 7 ¥ + I + I |
(i) sESEEY
(ii) ST,
(iii) S |

(@) WaH TR G107 F0er, b, |

(i) =UA + 29

(i) =9 + &
(i) =9 + 3 |
() AYTHE FeAoT Hewd fered |
(i) ¥Wed+
(i) HEM + =
(iii) T&d +q |
(a) G S: Sleh TOWe J HTCA |
(i) & +7q
(i) & + Fag
(iii) & + W |
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ARG HelTe AT Tet: Ue: AreAqNEd heal Rred o 4: fore |

ARG FaTG 1 AW § U T 3oq) o1 HERAT § AT qiE i §C aegul
g 44 Tt |

Fill in the following dialogue by choosing the right words as per rules of voice.1 x

ﬁﬁh—ﬁﬂ&@ﬁ%W@WﬁT?

AT — 3T, I (i) T |
et — fob feawr: stemues FoeRufa ¢
31T — 31, (ii) HAATIh: THEHIA |

TR187h: — Toh @ TAT SO AT AN ?

B — M, 7Y AT 390N el (i) |
AT

3T|:ﬁ'€lﬁ, ﬁ%ﬁﬁ?, 91a: |

eferRaafeTeara fereermi Seaiuserse: = |

sreiferfiaa fererat i fo ot 1 o et e & S |

Rewrite the daily routine using Sanskrit words in‘place of figures. Yo X
() W YT I 5.00 yHvne sl |

(i) 378 9Td: 8.30 HRATH TS |

(iil) @ AT HEATR, 2.00 fer=ne@Tg SrTesid |

(iv) W SFeh: "R 7.30 T8 STl |

renferRaaarsRry feremni nemEmed: 3fud: srerde: R fored |

frefafiaa arerit ® frar weri 6t gfd e § feu o 3o vl < grr i |

Fill in the blanks in the following sentences with appropriate indeclinable wo
given in the box.

() Trwm Tt sy 2

(i) ¥E: e HEema:, A gsad
(iii) 9 &€ gurd Fog gehevm_ 3Thd |
(iv) Tan: YUENE 37T |

A

3a%dd:, 3, 3=, gEIfa

9
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52

FfTRIqaTRYy W@Tgauet IREH 31 | 3G Ug H9ned 3H: foreq |
frefafiaa arerit § W@iferd Ue 3G 7 | 313G TS I TG ot H: farfau |

Correct the underlined incorrect words in the following sentences : 1x4=4
() g STforeh feeme™ mT=sfq |

(i) TorH 378 Hel qEehT TGl TTesTH 7

(iii) forst: ymomed va: 7 T=sfd |

(iv) o sreparen e @ st ?

wue: —¥
SECTION -D

gfea-Taaeay (Jfsd-TasieT)
Reading Comprehension 30 g

FUNTARGA T, T, AT = qiSca TEase HIH ST b for@d |
frferRaa e, wer 3R AreaTt o ugeht feu MU TeHi o 3T Teehd § fofan |

Read the following prose, poetry and drama passages and answer the given questions in
Sanskrit.

(31) T
TS 3 — WieH, | WaHRe R AT, STLald e Seaiy | STfevadn —
foh sRtafor 22
faw: 3am — Afe o, Wid: T @: T FeN: GHH_3To1H, 39 79 dAlehar et
eI | T, HT T SR, ~ <leh. Sl §hTd T | TH, 3591 S, 9 31
ITeeh: AT IRG: T | 31T Wag A | s fommd T stvmya — o firm 1 feRmehA
TEINT | 378 YaId TLgIHd JFeSIH |

T3
I UUcH 30 |
Teh 3G H IR ST |
Answer in one word. 1x2=2

(i) Ak FEEH gohHa” 31 & A= ?
(if) T Y ST hH g8l ?

I YuiEmeRH 3O |
ot gt | I €T |

Answer in a complete sentence. 2x1=2

fowr: T fopy IaAaT ?
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I1I.

(3) e

Yea e Ifeaq I faen foad |
fou U foehedt # @ 3fua I g fetfau |
Choose and write the appropriate answer from the given options : % % 4 =2
() =SS ‘AR e foh fersromy 7
() Ha:
(i) st
(i) =G |
(@) e 3f foramaew shque Ty 7
() faw:
(i) ITIh:
(iii) TSI |
(M) qa s fob foemueH 313 Y& 7
() wed
(i) wH
(iii) ferw: |
(W) “HT BT 3 A’ 3T FeTHYIG e FIFH. 7
(i) T
(i) foum=
(iii) B |

T2 fa 79: 07 | JHIY Seeeged. |
TETE I8 7= S ggseh ||

JRHT:

L

IL.

Tehued 3T |
T T8 H IR N |

Answer in one word. 1x2=2
(i) o FIEH 3T9H: Ggohl HYAT ?

(i) = fopm Afeq 7

qufaTeRH I |

quigTeRt H I T |

Answer in a complete sentence. 2x1=2

T Shigem Wafd 7

11 [ P.T.O.
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52

I1I.

Yea e Ifeaq I faen foad |
feu o foehedt & @ 3fa 3w g fotfau |

Choose and write the appropriate answer from the given options. 2 x4 =2

(%)

(@)

()

(=)

(3)

(i) ==

(i) STy

(iii) g |

TR 3fd ToRATIER Hug fhm ?

(i) P

(i) =

(iii) 378Y |

‘38 3l FEAHIG el ST, ?

(i) g

(i) - ST

(iii) . = |

e georea 166 forcaimoen, S sger 7

() wEIH

(i) g&H

(ili) ==y |

femiy: — or8 Torrnf g o g e T | 3w e,
30 T TR | 37d: STEUR YH: STEUeA: |

et — st | S s | R g
I | 37d: TRV | AT T TSGR T Yaid |
fagen = @ wwEwmE | SHmdE g @ d.

TF | QST Hg: AR T TG | TEITEUN a3
TCRI hae Yehfd: TF 7 fafaen 7ee = yogq ewhia: MY |
12
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IL.

I11.

ThUH 3L |

Th 91sg | IR T |

Answer in one word. 1x2=2
(%) AT T hid T2 Taai= ?

(@) T T AT 37 Tew T ?

iR I |
oot areRt | 3T T |
Answer in a complete sentence. 2x1=2
3T TCH: ITEUITAA: Fel: B ?
Jedtasheds: 3ty I Faer foreq |
fou e foeheni # @ 3fea ST g fofEw |
Choose and write the appropriate answer from the given options. %2 x4 =2
(%) Tyl 3fer foramoiee shug T 2
@), - fewm:
(i) wRieATiEeRTd
(iii) SIH: |
(@) feaer™ s fo TaRuey 3 Y& ?
() T
(i) Temfs:
(iii) & |
() g seore fop foretmuey 3 e ?
(i) wi;
(i) T
(i) g |
(1) 37 HId T Fo AW S HeHHTG HE T 7
(i) @™
(i) ST
(iii) 3ITEUTETH |
13 [ P.T.O.
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12.  TETfgd-uar e SR -HI Hod |

13.

52

T@Tfgd Yei o TR R I fFmfor hifse |

Frame the questions on the basis of underlined words, 1x4=4
(i)  IoREH STV 6 Ueh =1g: ferfea |

(i) Sferesr: i T v |

(iii) & & ! Sraefife: sreTh: TEsHTE: |

(iv) I e HAH R weE |

HuTd: Tgfaauert facn srafaRaqeetiengae 379 T |
A H B goferd ug gAeRt Feferiad i wellehl < 37 sl quf shifog |

Complete the prose order of the following twe shlokas by choosing the appropriate

words given in the box. v x 8§ =4
() SreHIdRd 9: Elg STeh SR |
HIhILET o § Jo: G FE! 7 1|

FeR: —F: () Wk (i) .o 9T 3 U (i) el @
(v g% §: gell (wafd) |

(i) o= f-areTe: @GRl Ag < b igdgEH |
e anfd T e, srdme Hussie ||

I - fEmeE: () g | Aq (i) dad | gEEE (9E)
(iii) Tt (iv) (am) Teraesias wafa |
ALl

ITEHHY, T, AT IEH, AigH, Femam, Sefamienndg, e, Hmshagyad |

14
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52

srenferfadenemTT wgfd wie fasheter: e forga |
frafefaa st w1 agfad e fashedt § & g foafae |
Choose and write the correct gist of the following sentences from the given options.
1x4=4
(%) SRR < I 99 3o |
(i) e,
(ii) =Ry
(iif) STRIHH |
(@) Y el < TEYT U 7T |
() #IgH F=
IEL
(ili) v |
(1) GHT: e Wi g T Fes(d |
(i) wHa
(i) uia:

(i) wvE: |

(9) el 6 gd: Coie: Wsh: SUfE: |
(i) =
(i) =
(iii) fereay |
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